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Aral: BT oM B SR OBk # /H &/ B
1 2 3 o1 1 11 1"4
et A==(3 1 2[, 8=|1 ¢ 1|, C=|1 —-1 0 { Compute the following
2 -2 1 -1 2 2 1 -1 --IJ

values. (25%)
G) A", Giydew(AB), (iiddeBC), (iv)irace(ALBICY, (v)cigenvalues of A.

2. Let P beteplanein R defiued by P = {(x,,2):x +y+z=0}.Let T be lhic reflection

with respect fo P;ie. foreach v i ', () is the wizor image of ¥ on ho othier side of .

Find cigenvalues and cigeuvectors of 7. Represent 17 as a malrix in two ways; one with respect
to ciganveclors as a basis and the other witli respeet 1o the standard basis, (15%)
3 Give aconditionon b,,8,,0,,0, so lhat the following sysicm ol linear cqualious is solvoble.
(15%)
x + 2y = 4

2x + 4y = b,

2x 1 Sy =

Ix + 9y = b,

4, Lot A bean M % ni matrix, Show that A has linearly independent cotunms il and only if
AT A4 isinvertible, where 47 is transpose of A (15%)

1 -1 2 -2 3
2 -2 4 -4 6 ) . .
S Let A= ' . Find a basis for each of the following spaces; (i) row space of
3 -3 6 -0 9
¢ 4 5 2 1

A, (ii) column space A, (iit) nullspace of A, (iv) wnll gpace of A7 which is ransposc ol 4.

(15%)
3 01

6. Let A=10 4 0/ Findadiagonal mairix A and an orthogonal mauix (F such that
1 ¢ 3

A=Q" A'Q.(m%)



